## Transfers Report

This report contains the transfers results.

Contest Name

Ward 16 - Howe Of Fife & Tay Coast

Valid Votes
Positions to be Filled
Quota

6,030 3 1,508

### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Jackie ANDERSON	Alba Party for independence	58
Alan Henry BROWN	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	54
Andy HEER	Scottish Conservative and Unionist	880
Gary Richard HOLT	Scottish Liberal Democrats	1,261
Malcolm JACK	Scottish Greens - Think Global Act Local	458
Donald Norman LOTHIAN	Scottish Liberal Democrats	1,448
David Victor MACDIARMID	Scottish National Party (SNP)	1,871
	Total	6,030

Candidate David Victor MACDIARMID Elected with 1,871 votes, being in excess of the quota of 1,508

# Transfers Report

This report contains the transfers results.

## Stage 2 - Surplus of David Victor MACDIARMID

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie ANDERSON	173	0.19401	33.56373
Transfer to Alan Henry BROWN	20	0.19401	3.88020
Transfer to Andy HEER	45	0.19401	8.73045
Transfer to Gary Richard HOLT	98	0.19401	19.01298
Transfer to Malcolm JACK	875	0.19401	169.75875
Transfer to Donald Norman LOTHIAN	310	0.19401	60.14310
No further preference	350	0.19401	67.90350
Not transferred due to rounding			0.00729
	Total		363.00000

# Transfers Report

This report contains the transfers results.

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
No further preference	96	0.00009	0.00864
No further preference	58	0.00001	0.00058
Not transferred due to rounding			0.00968
	Total		0.14310

## Transfers Report

This report contains the transfers results.

## Stage 4 - Exclusion of Alan Henry BROWN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jackie ANDERSON	4	1.00000	4.00000
Transfer to Andy HEER	17	1.00000	17.00000
Transfer to Gary Richard HOLT	10	1.00000	10.00000
Transfer to Malcolm JACK	8	1.00000	8.00000
Transfer to Jackie ANDERSON	1	0.19401	0.19401
Transfer to Andy HEER	1	0.19401	0.19401
Transfer to Gary Richard HOLT	2	0.19401	0.38802
Transfer to Malcolm JACK	9	0.19401	1.74609
Transfer to Jackie ANDERSON	3	0.00009	0.00027
Transfer to Andy HEER	1	0.00009	0.00009
Transfer to Malcolm JACK	1	0.00009	0.00009
No further preference	15	1.00000	15.00000
No further preference	7	0.19401	1.35807
No further preference	3	0.00009	0.00027
No further preference	3	0.00001	0.00003
Not transferred due to rounding			0.00000
	Total		57.88095

## Transfers Report

This report contains the transfers results.

## Stage 5 - Exclusion of Jackie ANDERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andy HEER	8	1.00000	8.00000
Transfer to Gary Richard HOLT	14	1.00000	14.00000
Transfer to Malcolm JACK	24	1.00000	24.00000
Transfer to Andy HEER	4	0.19401	0.77604
Transfer to Gary Richard HOLT	10	0.19401	1.94010
Transfer to Malcolm JACK	92	0.19401	17.84892
Transfer to Andy HEER	1	0.00009	0.00009
Transfer to Gary Richard HOLT	1	0.00009	0.00009
Transfer to Andy HEER	1	0.00001	0.00001
Transfer to Gary Richard HOLT	2	0.00001	0.00002
Transfer to Malcolm JACK	2	0.00001	0.00002
No further preference	16	1.00000	16.00000
No further preference	68	0.19401	13.19268
No further preference	9	0.00009	0.00081
No further preference	11	0.00001	0.00011
Not transferred due to rounding			0.00000
	Total		95.75889

# Transfers Report

This report contains the transfers results.

## Stage 6 - Exclusion of Malcolm JACK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andy HEER	25	1.00000	25.00000
Transfer to Gary Richard HOLT	232	1.00000	232.00000
Transfer to Andy HEER	23	0.19401	4.46223
Transfer to Gary Richard HOLT	291	0.19401	56.45691
Transfer to Andy HEER	4	0.00009	0.00036
Transfer to Gary Richard HOLT	33	0.00009	0.00297
Transfer to Andy HEER	5	0.00001	0.00005
Transfer to Gary Richard HOLT	29	0.00001	0.00029
No further preference	233	1.00000	233.00000
No further preference	662	0.19401	128.43462
No further preference	27	0.00009	0.00243
No further preference	47	0.00001	0.00047
Not transferred due to rounding			0.00000
	Total		679.36033